Interrupt Service Routines
void function_name (void) interrupt interrupt_number _using register_bank_

The interrupt_number determines the interrupt vector address of the interrupt

function. Use the following table to determine the interrupt number.
Interrupt number       Address         Interrupt number     Address

0 (EXTERNAL INT 0) 

0003h 


16 




0083h

1 (TIMER/COUNTER 0) 
000Bh 


17 




008Bh

2 (EXTERNAL INT 1) 

0013h 


18 




0093h

3 (TIMER/COUNTER 1) 
001Bh 


19 




009Bh

4 (SERIAL PORT) 

0023h 


20 




00A3h

5 (TIMER/COUNTER 2) 
002Bh 


21 




00ABh

6 (PCA) 




0033h 


22 




00B3h

7 





003Bh 


23 




00BBh

8 





0043h 


24 




00C3h

9 





004Bh 


25 




00CBh

10 





0053h 


26 




00D3h

11 





005Bh 


27 




00DBh

12 





0063h 


28 




00E3h

13 





006Bh 


29 




00EBh

14 





0073h 


30 




00F3h

15 





007Bh 


31




00FBh

The using attribute lets you specify a register_bank that is selected during the

execution of the interrupt function. Small interrupt routines might be more

efficient without the using attribute, since they use the default register bank 0.
